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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Kannada. Doubts
regarding the meaning and translation of Question Serial No. 1 to 70 will be settled
based on the Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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10.

Vasco da Gamma firstly landed at Calicut in the Year
A) 1453 B) 1498 C) 1503 D) 1524

By which treaty the power of Malabar transferred from Sultan of Mysore to the
British ?

A) Treaty of Hyderabad B) Treaty of Madras

C) Treaty of Sreerangapattanam D) Treaty of Mangalore

‘Atmopadesa Sathakam’ written by which social reformer of Kerala ?

A) Chattambi Swamikal B) Sahodaran Ayyappan

C) Vagbhadanandan D) Sree Narayana Guru
. Who is known as Kerala Gandhi ?

A) K. Kelappan B) K. P. Kesava Menon

C) Vakkom Maulavi D) K. Madhavan

“If there be paradise on earth, it is this, it is this, it is this” — words of Mughal emperor
Shah Jahan engraved in the walls of which Palace ?

A) Diwan-i-khas, Delhi B) Red Fort, Delhi
C) Taj Mahal D) Moti Masjid, Agra
The social reformer who founded Ramakrishna Mission.

A) Dayananda Saraswathi B) Vivekananda

C) Annie Besant D) M. G. Ranade

The Nationalist who propounded ‘Drain theory’ against British economic exploitation
of India.

A) Pheroz Shah Mehta B) Badaruddin Tyabji

C) Gopala Krishna Ghokale D) Dadabai Naoroji

‘The Fall of Bastille’ is associated with which Revolution ?

A) French Revolution B) Russian Revolution

C) English Revolution D) American War of Independence

Who worked as the Chairman of the State Reorganisation Commission of 1953 ?

A) K. M. Panikkar B) H. N. Kunzru

C) Fazal Ali D) G. B. Pant

The ‘Kargil War’ of 1999 between India and Pakistan is also called as

A) Operation Vijay B) Operation Parakram

C) Operation Desert Fox D) Operation Blue Star
-2-
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Consider the below statement regarding the monsoonal rainfall in Kerala.
1) Kerala is named as “Gateway of monsoon” in India.
2) Palakkad Gap influences the spatial pattern distribution of rainfall.
3) Thulavarsham is the principal rainy season in Kerala.

Which of the statement given is/are correct ?
A) 1 and 2 only B) 2 and 3 only C) 1,2and 3 D) None

Consider the following passes in the Western Ghats in Kerala.

1) Thamarassery pass

2) Achankovil pass

3) Kambam pass

4) Arampadi pass
Which of the following is the correct order of their location from north to south ?
A) 1-2-3-4 B) 1-3-2-4 C) 1-2-4-3 D) 1-4-2-3

Which of the statement given below is not true regarding the characteristics of
tropical cyclones ?

A) Originate both in land and ocean in the tropical regions.

B) Low-pressure centre with high wind velocity.

C) Not all depressions are turned into cyclones.

D) Cumulonimbus cloud surrounds the core of the cyclone.

Which of the soil commonly found in the humid areas where having high temperature
and heavy rainfall with alternate wet and dry periods ?
A) Alluvial soll B) Black soil C) Red Saoll D) Laterite soil

Which of the following region is known as the Big Game Country ?
A) African Savannah B) Amazon rain forest
C) Arctic Siberia D) Downs in Australia

In the Budget of 2022-23, which of the following is a transformative approach for
economic growth and sustainable development which is driven by seven engines
namely, Roads, Railways, Airports, Ports, Mass Transport, Waterways and Logistic
infrastructure ?

A) P.M. GatiShakti B) P.M. Gatimman

C) P.M. Garib Kalyan D) P.M. Kisan Samman
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17. Which of the following is growth achieved by the Indian Economy in the Eleventh

Plan period ?
A) An average of 6.7 Percent B) An average of 9.5 Percent
C) An average of 7.9 Percent D) An average of 9.0 Percent

18. Which of the following functions are correct about RBI ?
i) Maintaining price stability while keeping in mind the objective of growth.

i) Maintain public confidence in the system, protect depositors interest and provide
cost-effective banking services to the public.

iii) To facilitate external trade and payment and promote orderly development and
maintenance of foreign exchange market in India.

A) Only (i &ii) B) Only (ii & iii)

C) Only (i &iii) D) All of the above (i, i, iii)

19. The Inter-Ministerial Coordination Committee on the Multidimensional Poverty Index
constituted under NITI Aayog. Which of the following Ministries and Departments
are included in the committee ?

A) Ministry of Agriculture and Farmers Welfare and Department of Fertilizers

B) Ministry of Commerce and Industry and Department of Telecommunications

C) Ministry of External Affairs and Department of Public Enterprises

D) Ministry of Women and Child Development and Department of Food and
Public Distribution

20. The Nobel Prize for Economics 2022 was awarded to 3 American Economists for
their research on
A) For their methodological contributions to the analysis of causal relationships
B) For research on banks and financial crises
C) For improvements to auction theory and inventions of new auction formats
D) For their experimental approach to alleviating global Poverty

21. Which of the following statements are correct about Weber’s Ideal type of Bureaucracy ?

i) Division of labour.

ii) Extensive Paperwork.

iii) Well-defined authority of the hierarchy.
iv) Impersonal nature.

A) Only (i &iii) B) All the above

C) Only (i, iii, iv) D) Only (ii, iii & iv)
22. CEDAW is associated with

A) Children B) Women

C) Disabled persons D) Asylum seekers
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In which year RTI Act came into force ?

A) 2000 B) 2004 C) 2006 D) 2005
Who is the author of the book “Human Rights and Inhuman Wrongs” ?

A) Upendra Baxi B) Anju Soni

C) V. R. Krishna lyer D) Prof. R. P. Remanan

Who preceded Rishi Sunak as Prime Minister of UK ?
A) Liz Truss B) Boris Johnson C) Dominic Raab D) Suella Braverman

What was the total strength of the Constituent Assembly in 1946 ?
A) 389 B) 292 C) 289 D) 299

Which among is the correct chronological order of the cases of Fundamental Rights
and Directive Principles ?
i) Golak Nath vs State of Punjab
i) Keshvanand Bharati vs State of Kerala
iii) Champakam Dorairajan vs State of Madras
iv) Minerva Mills Ltd. vs Government of India
A) i, i, iii, iv B) v, ii, i, iii C) i, i, iv, iii D) iii, i, ii, iv

Name the system under which the peasant himself owns the land and is responsible
for payment of land revenue to the government.

A) Dahsala System B) Zamindari System

C) Mahalwari System D) Ryotwari System

Consider the following statements about Panchayath Raj and mark which of the
statement is incorrect ?

A) 1/3 seats are reserved for women at all levels of the Panchayath Raj system.
B) Panchayath Raj is associated with 12" Schedule of the Constitution.

C) ltis under the supervision of Grama Sabha that Grama Panchayath works.

D) Rajasthan was the first state to implement the Panchayath Raj system in India.

Which of the following Articles of the Indian Constitution states that “It shall be the
duty of the Union to protect every State against external aggression and internal
disturbances” ?

A) Article 325 B) Article 354 C) Article 353 D) Article 355
Which instruments are used in Padayani ?

A) Thappu and Chenda B) Mridangam and Thappu

C) Kuzhal and Chenda D) Mizhavu and Maddalam
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32. Who is known as the ‘Kerala Chaucer’ ?

A) Ezhuthachan B) Cherussery C) Cheeramakavi D) Rama Panikker
33. Which country hosted the Winter Olympics 2022 ?

A) ltaly B) Canada C) Japan D) China
34. American Cup is given for which particular sports ?

A) Tennis (Women) B) Bridge C) Badminton D) Yacht Racing
35. What is the National game of Bangladesh ?

A) Cricket B) Pato C) Rugby D) Kabaddi
36. Chettikulangara Bharani is associated with a Bhagavathy temple in which

district ?

A) ldukki B) Ernakulam C) Alappuzha D) Kozhikode
37. Who is the first Chairman of Kerala Folklore Academy ?

A) Raghavan Payyanad B) Bhargavan Pillai

C) C. J. Kuttappan D) Keecheri Raghavan

38. The Olympics in which P.T. Usha lost the Bronze medal by a narrow margin ?
A) Moscow B) Los Angeles C) Barcelona D) Sydney

39. Which of the following has announced Herbalife as its official partner for
Tata IPL 2023 ?
A) ICC B) DRDO C) BCCI D) I0C

40. In which city will Prime Minister Narendra Modi attend the Joint Commander’s
Conference — 2023 ?
A) Bhopal B) Indore C) Bangalore D) Pune

41. Which of the following statements is/are false ?
i) Hub operates on data link layer while switch operates on physical layer.
ii) Hub is broadcast type transmission.
iii) Router operates on network layer.
A) (i) only B) (i) and (ii) C) (i), (i) and (iii) D) (ii) and (iii)

42. Which of the following statement is/are true ?
i) Digitizer is an input device.
ii) Plotter is an output device.
iii) Joystick is not an input device.
A) (i) only B) (i) and (ii) C) (i), (ii) and (iii) D) (ii) and (iii)
A -10-
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43. Which of the following is not associated with Virtual Memory ?
A) Swapping B) Spooling
C) Demand paging D) None of the above

44. Which of the following statements about Ransomware are correct ?
i) Ransomware is a virus which replicate itself.
i) Kind of cyber crime where the attacker gains access to the computer and blocks the
user from accessing, usually by encrypting the data.
iii) The attacker blackmails the victim to pay for getting access to the data.
A) (i) only B) (i) and (ii) C) (i), (i) and (iii) D) None of these

45. Ubuntu 20.04 LTS is known as
A) Jammy Jellyfish  B) Kinetic Kudu  C) Focal Fossa D) Bionic Beaver

46. Which of the following statements regarding Satellites launched by ISRO is/are
correct ?
1) CMS-01 is a Communication Satellite.
2) GAST-6A is a Earth Observation Satellite.
3) Mission EOS-03 was Unsuccessful.
4) INS-1C is a Navigation Satellite.
A) Only 1 B) Only 2 C) Only 1 and 3 D) Only 2 and 4

47. Which of the following Statements about DRDO is/are correct ?
1) DRDO was formed in 1959.
2) INSAS weapons are designed by DRDO.
3) DRDO is under Department of Space.
4) DRDO is headquartered in Bangalore.
A) Only 1 B) Only 4 C) Only 2 D) All the above

48. Which of the following disease can be diagnosed with Widal test ?
A) AIDS B) Cancer C) Typhoid D) Ascariasis

49. Which of the following Environmental movements in India is related to
“Hug the trees” ?
A) Narmadha Bachao Andholan B) Jungle Bachao Andholan
C) Appiko Movement D) Chipko Movement

50. Which city hosted 108" Indian Science Congress ?
A) Mumbai B) Jalandhar C) Kolkatta D) Nagpur
A -12-
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i) 2T woTH DegoD %wce eﬁmm@mﬁd%, mmsémﬁ céemwg’% @asg%)w—; BRTBOZD
BVARYT ¢57,30695TT FOTYR,TT T, TeTHS), WROI0TYT :308Y WHFFTDTTIY
T, eARTOZ AWF0HTITIT.

iii) 702,730 Fetmort @,35¢3 TEODLO TBIFTOZ $3,3069590T ¢, T e

BINREOTT.
A) (i) =8, B) (i) =020 (ii)
C) (i), (i) =0= (iii) D) amn$d) cdnmyme @)

45. 020083 20.04 DSFURF (LTS) 2000T), Seriotsd FTCh RN
A) ¥ BYRD* B) 335 somd C) Speser Zgoemw, D) wodneds® weso’

46. QRR,C YVTIORATI VTN, TRPT FOWOHATIOZT FPNT 00T Bewd/ned TOCIIN 2
1) CMS-01 Z0RTT L@, To0NG.

2) GAST-6A 30000 &egm YVTN, BNT.

3) RS EOS-03 QFemend.

4) INS-1C S Qriesa’ vVBn,ToN3.

A) 1338, B) 2 =53,

C) 1302 3 BwE, D) 2 3030 4 &%g,

47. DRDO 30802 3$NT 00w B9/ ned FOoIRNS 2
1) DRDO 33 1959 89, 3menoozd.
2) INSAS 3mandI) DRDO Qm9mnievass.
3) DRDO 3053, 598 enaiodd $ReDYT.
4) DRDO T &30 3630 Wonendsda.

A) 1 3R, B) 4 =%8, C) 2 =8, D) &0¢dT 2eep
48. NS 033 TREMBTIY, F;TBS* TOET V00T JeEdF RORWTIT 2

A) O B) 5,30 C) &ocw® D) &R0
49. tTBTY, FINT 0 TOFT BTWENE “eTNYRY, BWIRWR)T"E BOLIOQAT ?

A) TZOFTIO WVTPC SOTIREOT B) %one® wisompe S08eees

C) @&ﬁ@e WOTY D) 23073@6@ BRI
50. 1083¢ go03ecdd e[ TOMT* &Y CIIRET INTY) SCEREEABS ?

A) =00 B) xeoomo® C) 6@@@@ D) Sonx)c®

A 13-



047/23 - K

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

What is the value of
6.3x6.3+2%x6.3x3.7+3.7x3.7°7
A) 10 B) 100 C) 6.76 D) 1

_ _ 1 1 3.
m m -+ —+—
The decimal number equivalent to 52710 is

A) 1.25 B) 0.25 C) 0.75 D) 0.5

22% % of 400 is

A) 90 B) 80 C) 100 D) 60
.. 62x10* x15°

Simplify > X 3 % 5°

A) 2 B) 3 C) 4 D) 5

Find x,if5:7=x:35
A) 30 B) 45 C) 25 D) 40

If the simple interest for an amount of Rs. 10,000/- for 2 years is Rs. 2,400/-, what
is the compound interest for 2 years for the same principal ?
A) 3,000 B) 2,544 C) 2,800 D) 2,500

Find the radius in cm of a sphere whose volume is 367 cm?.
A) 3 B) 6 C) 4 D) None of these

First term and last term of an arithmetic progression are 144 and 300, respectively
and common ratio is 3. Find out the number of terms in this progression.
A) 53 B) 52 C) 54 D) 55

Average mark of 10 students in a group is 25. If one more student is joined in this
group, the average changes to 24. What is the mark of the new student ?

A) 24 B) 14 C) 18 D) 20

A man walks a distance of 600 m along a street in 5 minutes. Find his speed in Km/hr.
A) 6 B) 6.6 C) 7.2 D) 8

Fill in the blanks.

3,6,11,18,27,

A) 38 B) 36 C) 35 D) 37
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6.3x6.3+2x6.3x3.7+3.7x3.7 9@0 ﬁ@asﬁ%b ?

A) 10 B) 100 C) 6.76 D) 1

1 1 3

—t =+ 3 BROT BTBR0T 7083

5 4 10 ¢ 5

A) 1.25 B) 0.25 C) 0.75 D) 0.5

4003 22% % 03T

A) 90 B) 80 C) 100 D) 60
HSER A0 6% x10* x 15°

26 x 3° x 5°
A) 2 B) 3 C) 4 D) 5

5:7 =x:35 33 X 8:9:7% FOTBIBOD.
A) 30 B) 45 C) 25 D) 40

dn. 10,000/-8 T SRR Se. 2,400/- BT LR OIRNTT, wtde BN TR SREAST
e, WA T ?

A) Tw. 3,000 B) on. 2,544 C) ow. 2,800 D) ow. 2,500
2000 NRYT TOWIEIR) 36T cm? wﬁcﬁ%, %0.40e.89 30 {%)3%55% FOTBIBOD.
A) 3 B) 6

C) 4 D) aR@ndd cdnenEe o

ABIR0ET 33030000 RBRTY R0 FRFOD TTINW §,30w0N 144 3082 300 3020
mmsé LIR0TBRY 3 SNT. B3 IRROST I, 303 TTNY (@oﬁﬁ TORNEING) xo@jgwmq
FOTROEE00.

A) 53 B) 52 C) 54 D) 55

2,00 10T, 10 T, HFNT FTITO 0T 25. 38 MOOLTY TR, W) T, HF FeOZROTT,
[eprite) 246iﬁ WTRMOTT. D% $ITI, HE O 0T O, ?

A) 24 B) 14 C) 18 D) 20

20 35,8 600 0e3T* BRTHI, 5 VWTNTY, THOD NWTER, SHOINTY §,00R0TT. BT
BenBI), B, MoLdrt sipe QT NYY, FOBILROND.

A) 6 B) 6.6 C) 7.2 D) 8
829 WIS, PEF ARE.

3,6,11,18,27,

A) 38 B) 36 C) 35 D) 37
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62.

63.

64.

65.

66.

67.

68.

69.

70.

f2+3=8;4+5=24;1+8=9,thenwhatis3+6?
A) 12 B) 21 C) 20 D) 22

Find the odd one out.
i) 13 i) 17 i) 23 iv) 27
A) 13 B) 17 C) 23 D) 27

EARTH : FBSUI : : FRUIT :
A) GSVJS B) GQVJU C) GSVJU D) GSVKU

A is B’s sister. C is B’s father. D is C’s mother. Then how is A related to D ?
A) Daughter B) Granddaughter
C) Father D) Grandfather

Akhil walks 25 km towards East and turns to right hand side and takes a drive of
8 km. He then turning to his right, travels another 10 km. Again he turns to his left
and walks 6 km. After that he turns to his right and travels 15 km. How far is he from
his initial position and in which direction ?

A) 20 km West B) 16 km North

C) 14 km South D) None of the above

What is the angle between the hour hand and minute hand at 12 : 10 ?
A) 50° B) 55° C) 60° D) 65°

3" November 1994 falls on Thursday. What was the day of 20" March 1995 ?
A) Friday B) Saturday C) Sunday D) Monday

Find the mirror image of the word MACHINE.
A) IMHCAM B) INIHOAM
C) AMIHOAM D) EMIHCAM

Looking into a mirror, the clock shows 12 : 15 as the time.
The correct time is
A) 11:45 B) 11:15 C) 12:45 D) 12:15
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2+3=8;4+5=24;1+8=9 200258 3+6 7

A) 12 B) 21 C) 20 D) 22
roodr $e0s BETIY, FOBERROD.

i) 13 i) 17 iii) 23 iv) 27
A) 13 B) 17 C) 23 D) 27

EARTH : FBSUI : : FRUIT :
A) GSVJS B) GQVJU C) GSVJU D) GSVKU

‘A’ 2000 ‘B’ 030 300e30. ‘C’ 20030 ‘B’030 303. ‘D’ 2025330 ‘C’ 030 3000, TonmolTd
‘A D't 0BRE BOWOGERI, BROOTT ?

A) Toned B) dram@mfo

C) 803 D) e,

DS FPTET 25 $.20¢. IHR WONER STOTS T 8 8.50¢. WO, wF0ET

BB T, WOF TN AR 10 8.80¢. 808 B T DT STON 6 §.20¢. IBOIVTS.

$TT BTOTT BB B LT 3TON 15 8.80¢. T, CSREFROTT. BB T, STORT W IWOT
2T, BT 3y oIE BETYTOTE ?

A) 20 3.20¢. w@ém B) 16 3.co¢. ev8T
C) 14 s.c0e. T8ed D) 30¢d8 cdnme @)

12 103 rlosdod Borie AQORE Bo0WNY SBDT 3ReR ST 2
A) 50° B) 55° C) 60° D) 65°

33e J[ows® 1994 rbdomdmﬂc(ﬁb& 20¢ @ouess 1995 035va w390moN3OBE 2
A) 303,590 B) 3200 C) ejasémd D) Xpex0w90

MACHINE 202 STT 8000 238,338, 508080B0.

A) IVIHCAM B) INIHOAM
C) AMHO AM D) EMIHCAM

T, RO, InerEdTon, NREINTRY) 12 1 15 FT0[Om 0T . FOSRT
SEveloveinfelnte)

A) 11 : 45 B) 11:15 C) 12:45 D) 12: 15
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71.

72.

73.

74.

75.

76.

77.

Choose the most appropriate synonym for the underlined word.
| am ready to concede that the decision was a wrong one.

A) Propose B) Agree C) Support D) Refuse
Fill in the blanks with the correct option.

He saw Sl of police sitting under eucalyptus tree.

A) the, an B) a,a C) an, an D) an, a
Identify the correct sentence.

A) | read the book yesterday.

B) | have read the book yesterday.

C) | has read the book yesterday.

D) I would read the book yesterday.

Let us go to the beach, ?

A) can we B) shan’t we C) shall we D) can’'t we
Identify the correct plural form of ‘commander-in-chief’.

A) commanders-in-chief B) commander-in-chiefs

C) commanders-in-chiefs

Complete the sentence with the correct conditional clause.
If I had gone to New Delhi, ____

A) | could see the Qutub Minar

B) I could have seen the Qutub Minar

C) | saw the Qutub Minar

D) | might see the Qutub Minar

Fill in the blanks with the correct option.

A new mobile tower next month.
A) is been installed B) is be installed
C) is being installed D) is installed

-18-

D) commander-in-chieves



78.

79.

80.

81.

82.

83.

047/23 - K

Fill in the blanks with the most appropriate option.

I you to a duel.

A) dare B) must
C) ought to D) may

Fill in the blanks with the appropriate preposition.
| will see you 9 O’ clock.
A) in B) on C) for D) at

Choose the correct indirect form of the given sentence.
“Don’t go near the beach, Alan”, the mother said.

A) The mother told Alan don’t go near the beach.

B) The mother told Alan you don’t go near the beach.
C) The mother told him not to go near the beach.

D) The mother told Alan not to go near the beach.

Fill in the blanks with the correct option.

Sunflower is than Jasmine.
A) more beautiful B) beautifuller
C) most beautiful D) as beautiful

Identify the segment of the sentence that contains a grammatical error.

If there is no error, mark ‘No Error’.

Though Tom studied hardly (A) / throughout the night (B) / he could not pass the
exam (C) / No error (D)

A) A B) B C)C D) D

Fill in the blanks with the correct option.

Make sure that all arrangements are perfect prior the inaugural
function.
A) than B) to C) then D) before
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84.

85.

86.

87.

88.

89.

90.

Select the most appropriate option to improve the underlined segment
grammatically.

Either Anil or his friends has completed the painting.

A) have completed B) have been completed

C) has been completed D) no improvement

Select the most appropriate meaning for the given idiom.

At sixes and sevens.

A) angry B) confused or difficult
C) ina hurry D) surprised

Select the alternative which is the best substitute for the given phrase.
A person appointed to settle a dispute.
A) auctioneer B) argumentator

C) appellant D) arbitrator

What is the full form of OTT ?
A) Over — The — Table B) On—-The —Top
C) Over—The —Top D) On - The — Television

Choose the correct option to fill the blank.
Lakshmi is an of our college.

A) alumnus B) alumna C) alumnae D) alumni

Complete the sentence with the correct option.
the teacher, the students stopped talking.
A) Saw B) Sees C) Seen D) Seeing

Choose the correct plural form of the word ‘stimulus’.
A) stimuleses B) stimulae

C) stimuli D) stimulum
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100.
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